Вариант 1_____________________7 «__»
Задание №1
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 С =  [image: image3.png]


 D=90°, CO =OD
Доказать: O- середина АВ
Задание 2
[image: image4.jpg]



Дано: [image: image5.png]


 АКЕ = [image: image6.png]


 PKC, АВ =ВС, AK =KC
Доказать: Δ AKE= Δ СKP 
Решение:

Вариант 2____________________7 «__»
Задание №1
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Дано: [image: image8.png]


 1 =  [image: image9.png]


 2, [image: image10.png]


 3 =  [image: image11.png]


 4
Доказать: АВ=AD

Задание 2
[image: image12.jpg]



Дано: [image: image13.png]


AMO=[image: image14.png]


OPC, AB =BC, MA=PC  Доказать: Δ AMO=  Δ OPC
Решение:

